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e Preston et al. (2003)0 0O
— ERROOODOO
x* 00 ERR = 0.35dFExp[—0.038(x — 30) — 0.7log(y/70)]
«* 00 ERR = 0.59dFExp[—0.038(x — 30) — 0.7log(y/70)]
— ERROOOOO
« 00 ERR = 0.37dExp[—0.045(z — 30)]
« 00 ERR = 0.63dExp[—0.045(x — 30)]
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*E?&E%ﬂﬂ T;L)Eﬁ *E(%E%ﬂﬂ T:\UE;@ *E?EE%ED T:\UEJ‘@
A TEE HAITEEL HAJER
0 14.7 318 18.4 434 0.036 0.79
5 12.1 262 14.8 347 0.030 0.65
15 8.2 179 9.4 221 0.020 0.44
5 27 5.1 113 5.4 128 0.013 0.28
42 2.7 62 2.6 64 0.007 0.15
60 0.8 23 0.7 22 0.002 0.06
iy 3.8 86 4.2 101 0.009 0.21
0 20.1 362 25.2 406 0.125 2.83
5 16.6 299 20.1 406 0.104 2.34
15 11.2 204 12.8 259 0.070 1.59
| 27 6.8 128 7.3 150 0.045 1.01
42 3.3 69 3.3 74 0.024 0.56
60 1.0 28 1.0 27 0.009 0.25
iy 4.7 91 5.2 109 0.031 0.73
0 17.3 339 21.7 420 0.079 1.78
5 14.3 280 174 375 0.066 1.47
g 15 9.7 191 11.0 239 0.045 1.01
21 6.0 120 6.3 139 0.028 0.64
42 3.0 65 3.0 69 0.015 0.36
60 0.9 26 0.9 25 0.006 0.16
5 4.2 89 4.7 105 0.021 0.48
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Ty 55 152.2 226.3
Z5NATZD 105 1219.6 2340.8
&% 2 44.0 35.0
JOwal)— 44 1071.8 13425
LAX 11 9.0 0.0
RE 6 11.2 20.5
— 20 164.3 16.9
Z D1t 185 688.9 1914.9
INEF1 444.8 729.5
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00 (300) [00(O)0 [ OO (200)
0000134(00) | 26x10° | 1.3x10™° | 1.9x 107>
0000 137(00) | 21x10° | 9.6 x10°° | 1.3x 107>
000131 (000) | 3.7x10°3 | 21 x1073 | 43 x107%
0) 00000 ICRP(1995), p.2700 000 ICRP(1992),
p.153.
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0000 5220 76.6
0goooo 596 209.7
0ooooo 3830 3455
00ooQ 1060 388.1
0goooo 1720 979.8
00oooo 5560 275.9
000 2472 160.2
00 1609 267.4
00 3100 441 .4
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O000000 (Ba/kg) | CPLYS(ODO/0)

00000 | 0oo0o |0o | o0 00
00000 445 730 220 | 510 | 1200
00000 3940 289 120 | 260 | 2100
00000 1020 189 420 | 910 | 5100
00000 443 186 760 | 1700 | 6800
00000 740 45 660 | 1400 | 12000
0o(@ooooo) 214 8 460 | 980 | 8900
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gne | IR - 0-9 | 10- | 20- | 35- 50i% 24

16/314 61 6.9%10™-4/97x10™-4| 14 | 1.4 |0.84 0.42/0.13 0.54

32/314 82 193x10™-413x10"-3/ 19 18 11 056/0.17/0.73
1 457 |52%x10™-3/7.3x107-3| 11 | 10 | 6.2 | 3.1 |0.96 4.1
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00 OO0 |00 00 00 OO0 |00
00 (O0/kg)(0DO) | 1545 | 1798 | 409 001 | 966 | 1013 | 973 | 1246
Joooddd 6350 | 7669 7 | 12161 | 6855 4 16
20000 00000000 OoOooon
D000 oUd 1doudo
EERE CPLYS({EM/F-#ESRm)
ERHEFE 0-95% 10-195% 20-345% 35-49i% | 50%— | ©F#5
16/314 4.6 48 7.8 19 51 12
32/314 3.4 3.6 5.8 12 38 9
1 0.62 0.64 1 2.1 6.8 1.6
J0ddddooooooodg 1oggodd
ERFRE CPLYS({EM/F-¥E &R
BRI 0-95 | 10-195% 20-345% |35-49%  508- | 2
16/314 | 0.45 0.47 0.76 15 5 1.2
32/314 | 0.23 0.27 0.38 0.76 25 0.59
1 0023 | 0024 | 0039 | 0078 0.25 0.06
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Kishimoto et al.

2001
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00 00 00
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0000000000000 00o00ooon (Ba/kg)

F#5 ZLIR 0-9 10-19 |20-34 |35-49 50- 2FH
JEFEBREMEFSE 438 | 1105 | 1155 1871 | 3746 | 12246 | 2884
=M =E 255 643 | 671 | 1088 | 2178 | 7120 1677
43 85 213 223 361 723 2364 557
R 1529 | 3856 4028 | 6527 | 13066 @ 42719 | 10061
Btk 102 | 257 | 269 | 435 871 2848 671
=30y 1325 | 3342 3491 | 5657 | 11324 | 37023 | 8720
(b) 1ERMERMEEAI0HFHDEE

F fn ZLUR 0-9 10-19 |20-34 |35-49 50- EFE
JEFEBREMEFSE 117 | 295 308 499 999 | 3266 769
EME = 68 | 171 179 . 290 581 1899 447
43, 23 57 59 96 193 630 148
R 408 | 1028 1074 | 1741 | 3484 11392 2683
Rk 27 69 72 116 232 759 179
=30y 353 | 891 931 | 1508 | 3020 | 9873 2325

000000000000 000000000000000o00oooon4300 /kg 250
0 /kg0 830 /kgl 15000 /kg 13000 /kgO 0000 ODODOOO0O kgD OOOoOOO
oo obobobobooboooon
0000001000 /kg0 000
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ND 1058 || ND 1058
0 ND 218 || 6-20 98
[] 1276 || 20-40 77
00 (Ba/kg) 40-60 27

O NDOO 29.5 || 60-80 4
O NDOO 470 80-100 5
O NDOO 6.3 || 100-120 3
ND=00OOOOOO0O 5.0 || 120-140 1
ND=30000000 7.6 || 140-160 0
O NDO SD 38.7 || 160-180 2
[] 180-200 0

[] 200- 1
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